A= goll A A2t offell e ol o5l =Fol of

9O o
= o
T ABAQ.

1. o
=

7} Y o}

@ 7 @ v ® o @e O




@ EAz|et wA 27}

@ 27150 mA ] 4 s

o] %] 2uo] .

A



m@d

mm_o

,.W_l
B



ol =] AMNERJA] AL,

O o
=R

=

4.



&




ohe AAHEe A W LT 5T

6.

210 =

B!

=24

S

o
H
B!

® Wuarixo

@ W =mox



A
ol

A

N2 A7)

[}
= 3

ot

7.

o

G

g



A

the Baol e vt @

8.

(Sl ke

M~

1
® 5=
2

— N

@ 4

[a\HE S

@ 3t
2

—

O 2



il

ol
ey

2
12
©3

|

2 2
@ 65 ® 53

1
@ 65



=
gy o

o

<

ol

BH

B
i

o|J

@
7495

ARE
7%3]01
[l

=
e

I
J|!

HH

1

® 77159



1.2

45.6




cm



B 17.02m =

1= 2%0
A1 Kok 2 vl ] gyt

0
__of

=
oli= Tl

Gl



—_—

o
pi

12] 2| H &2 242,

(o]
Ae]tglim

1
=

M



15.

-0.014

[ ]+29=185--




16.

Hol7} 52cm?
AP O] o]

5 J=X
-

o

cm



17.

® 5cm

=l

. °]

o]
H

7} 48cm ol ™, AA A7} 152 cm
A= o] ol B em U7

@ 6cm ® 7cm @ 8cm

9l W7}

® 9cm

=
5

o]






) %
X Ak
<y
g B
=
= N
o EK
up B
Z

i
7
g
wlo B

M



3 g oA,

A

7F EdsUn. vhEA A

49
50

FaE

o 3z
= | °

1
9=
3

.

Ul



W
o
A

™

S, Aol Zolg
GU, A& AHA ] 535k 120

of® A8 o Ttz o] Zo|S

1
1=

21.

1

<l

AR

Ll

2 g7 0] 2o

2

ELIRE

L
1

cm?



22.

AAAL g A 7ro] 25.5km S 7t AHE A= 1 A|7E
97.5km S 7 uf), AFEA= A Rt oF @ ) o w2 X

24 AR A2 7HA] F5HA) L.

5 RN

Ll

15
s

1=}
pLn

2%

I
[¢)

2 e



23. AAEI} ohe T e AL o] Ay o]z} 71% em2 21 S o]
Z

AN=E FAe W, 2287 Fol& FohAL.

cm
15 17 19
= ir 19
) 1%?cm @ 1%gcm ©) 5 om
@ 1~ cm ® 1—cm



24. @& 17 o4 22 0]519] oJH o] T @ 3.72 014} 3.78 o]5te] of W
4, @+ @ 7P 2 K& wEHst] &4 A A7) L
AL

5 L
3%



25.

o' & 1248 YrEY Fol 219]

al
O
=

U 2] 71 0.045 Fok

FUL @ £8 212 e v, £& 457 Fotkw, of
2

wo] Y2 ot A TR AALQ.
g
o e



